LOSUNG zu bsp-4868-3/ZGCF

Arbeitsblatt

Kostenlos auf dw-aufgaben.de

Aufgaben-Quickname: 4868

Aufgabe 1

Berechne.

a) 428 + 60 = 488
d) 231 + 60 = 291
¢) 829 + 20 = 849
i) 621 + 30 = 651

Aufgabe 2

Berechne.

a) 111 + 80 = 191
d) 348 + 40 = 388
¢) 819 + 20 = 839
i) 858 + 10 = 868

Aufgabe 3

Berechne.
a) 40 +4 = 44
¢)30 +1 =31
h) 20 + 6 = 26
Aufgabe 4
Berechne.

a) 2440 4 2 = 2442

d) 5620 + 2 = 5622

g) 1660 + 3 = 1663
j) 9350 47 = 9357

Viel Erfolg!
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b) 640 + 50 = 690
¢) 314 + 80 = 394
h) 426 + 50 = 476

b) 369 + 30 = 399
e) 415 + 70 = 485
h) 427 + 30 = 457

¢) 727 + 30 = 757
£) 610 + 70 = 680
i) 648 + 10 = 658

¢) 533 + 30 = 563
£) 127 + 60 = 187
) 413 + 10 = 423

b)40+8 =48  )204+7=27  )T0+7T=77
N10+5=15 ¢ 60+4=064
D40 +5=45  j)40+3 =43

28.07.2013

b) 7690 + 9 = 7699
¢) 8330 + 9 = 8339
h) 5350 + 5 = 5355

Seite 1

¢) 6660 + 4 = 6664
£) 4230 + 4 = 4234
i) 4630 + 4 = 4634
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